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[t o<t<4c. Express f(t) = t5 t> 4

1sMATDIP41

frnd L[(t)]. (os Marks)

(06 Marks)

(06 Marks)

b. Given r(0 = {: i;;:::: where ti, . rff*tj. ,ro* that Ltr(01 = t o"n[?)

%l-.' ..@+ (05 Marks)

1,r o<t<r m* W':
c. Express f(0 = 1, I < t < 2 inte.Sfuoflunit step function and t;ence frnd L[(0]'

t,, t> 2 
n 

u "'' n*u ,wo#u

*ff'. '' W,- (osMarks)

** W Module-4- "! &

Ms . .\ 2r_,1w;*u s+2.* tr-, (o6Marks)7 a. Find the inverse fantffisform of D *ffi_r46 ") J * 36 
- 

s2 + 25 
\uv r'^gr^

OR

6 a. Find the Laplace transform of i) t cosat ii)

b.

ffiM;.ansrorm"r.rm (o'Marks)

c. Solve by u,siirgffilace transforms y, *fopI 4y = e-,, given that y(0) : 0, y'(0) : 0.

"4%# @ (05 Marks)

"& ,& o* &.,ee& #\Y r &Y
8 a. Find the inverse Laplace transffiof 

=;ffi' *** (06 Marks)a. Find the inverse Laplace trans$orrd ot 
u;16-ffiffi & 

(uo NrarKU'

b. Find the inverse Lapta@ansform

c. Using Laplace tpansforms solve the dffintial equatig4fui'+2y" -y'-2y =O given

y(0): y'(o): oqhq/'(0) = 6. dyl- ry (05 Marks)

6#n$Y d
" ry , ., W'dd"bi *r d 

rn( r\trorrrc\
d crry

9 ^. State and profue Baye's theoresh. 
,W 

@ (06 Marks)- ; il; ;;fii;es A^ dand c ,.ofiuc% respectivelv 60Y"hox, loyo of the total number of itemsrespectively e#dgOX,l}yo of the total number of items

:ective output JFihese machines are respectively Toh,3ohdefective output of,these machlnes are respectrvel! /"/o, 5"/o

random andurs f$und defective. Find the probability that the

,u.n s *,iggrtrirB) -- 7I1,P(AnB) : ll4, t(o)= 5/8. Find P(A), P(B) and

r(e n e). '*##+
(05 Marks)

The probability that g,pBison A solves the problem is l/3, that of B is 1/2 and that of C is
igned to all of them what is the probability that the3/5. If the pro

problem is sol
rblpm js simultaneously assig
l"Jffi 

*
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c.

(05 Marks)


